NIT	Name of the Work.	Estimated Cost.	Earnest Money	Place of Work.	Time of completion
Nos.			ittone,		of Work.
67	Boring of 100mm. dia Tube-well with Top enlargement 200mm. dia with installation of Sub-merssible Pump and allied works at site selected by Sasthi Swanirvar Dal, Vill. Pakha. P.O. Sordha, Birbhum under R.K.V.Y.	Rs.3,98,835/- Rupees three lakh ninety eight thousand eight hundred thirty five) only.	Rs.9,975/- (Rupees nine thousand nine hundred seventy five)only.	Vill Pakha, P.O. Sordha, Birbhum.	l(one) month.
68	Boring of 100mm, dia Tube-well with Top enlargement 200mm, dia with installation of Sub-merssible Pump and allied works at site selected by Sasthi Swanievar Dal, VillRameswarpur, P.O. Debogram Birbhum under R.K.V.Y.	Rs.3,98,835/- Rupces three lakh ninety eight thousand eight hundred thirty five) only.	Rs.9,975/- (Rupees nine thousand nine hundred seventy five)only.	Vill Rameswarpur. P.O. Debogram. Birbhum.	-do-
69	Boring of 100mm. dia Tube-well with Top enlargement 200mm. dia with installation of Sub-merssible Pump and allied works at site selected by Surjamukhi SHG, Vill. Gopalpur, P.O.Nohadanga, Birbhum under R.K.V.Y.	Rs.3,98,835/- Rupees three lakh ninety eight thousand eight hundred thirty five) only.	Rs.9,975/- (Rupees nine thousand nine hundred seventy five)only	Vill- Gopalpur. P.O. Nohadanga. Birbhum.	-do-
70	Boring of 100mm, dia Tube-well with Top enlargement 200mm, dia with installation of Sub-merssible Pump and allied works at site selected by Juhi SHG, Vill. Joychandrapur, Nonadanga, Birbhum under R.K.V.Y.	Rs.3,98,835/- Rupees three lakh ninety eight thousand eight hundred thirty five) only.	Rs.9,975/- (Rupees nine thousand nine hundred seventy five)only	Vill Joychandrapur. Nonadanga. Birbhum	-do
71	Boring of 100mm. dia Tube-well with Top enlargement 200mm. dia with installation of Sub-merssible Pump and allied works at site selected by Dharmmaraj, SHG, Vill. Sonjerkanda, P.O.Sonjerkanda, Birbhum under R.K.V.Y.	Rs.3,98,835/- Rupees three lakh ninety eight thousand eight hundred thirty five) only.	Rs.9,975/- (Rupees nine thousand nine hundred seventy five)only	Vill Sonjerkanda. P.o.Sonjerkanda Birbhum.	-do-
72	Boring of 100mm. dia Tube-well with Top enlargement 200mm. dia with installation of Sub-merssible Pump and allied works at site selected by Bomtara, Swarnirvar Dal. Vill Diyara, P.O. Budigram. Birbhum under R.K.V.Y. Tender Papers (N.I.T.), Priced Schedu	Rs.3,98,835/- Rupees three lakh ninety eight thousand eight hundred thirty live) only	Rs.9,975/- (Rupees nine thousand nine hundred seventy five)only.	Vill Diyara, PO. Budigram, Birbhum.	-do-

Tender Papers (N.I.T.), Priced Schedule & Form: 2911(ii) etc. may be obtained/downloaded from seriwbgov.org at free of cost.

Last date & time of submission of Tender | 16.01.2018 upto 3-00 P.M. at Headquarters, Kolkata. Date & time of opening of Tender

16.01.2018 at 3-30 P.M. at Headquarters, Kolkata.

Technical Bid will be opened first. Financial Bid will be opened only if the Technical Bid is found acceptable.

Labour Cess will be deducted from Bill value as per Govt. Rules. All original copies are to be shown for verification. The details may be seen in the Office of the Commissioner of Textiles (Sericulture), West Bengal, 45, Ganesh Ch. Avenue (2nd floor), Kolkata - 13 on any working days and in website: seriwbgov.org. The Commissioner of Textiles (Sericulture), West Bengal reserves the right to reject/accept all the applications without showing any reasons thereof. If any date as above happens to be holiday the next working day will be considered as stipulated date. Acceptance of lowest Tender is not obligatory.

N.S.C./K.V.P. will not be accepted as Earnest Money. Only the Bank Draft of a Nationalized Bank will be considered.

* Notwithstanding anything contained in this Notice Inviting Tender, the other terms and conditions and special terms and conditions will remain binding upon all concerned

Executive Engineer,
Directorate of Textiles(Sericulture),
West Bengal.

Memo.No. 1997 ENG/CIVIL/RKVY/BoS/BIR/4(Vol.-II)

1

Dated, 27/12/2017.

Copy forwarded for information & necessary action to :-

- 1. The Deputy Director of Textiles (Sericulture), Suri, Birbhum
- 2. The Notice Board of this Directorate, Headquarters, Kolkata.

3 The Website of this Directorate of Textiles (Sericulture), West Bengal.

Executive Engineer,
Directorate of Textiles (Sericulture),
West Bengal.

Price schedule for Boring of one no. 100mm. Dia. Tube well with top enlargement 200mm. Dia. With installation of submersiable pump and allied works at site selected by Sosthi swanirvar Dal, Vill.- Pakha, P.O. - Sardha.

Item No.	Description of Item	Unit	Rate	Quantity	Amount
1	Labour for boring tube well of required dia. by water jet system through any type of soil strata including hire and labour charges for boring pipes, scaffolding, tools and plants as necessary and taking out them and lowering pipes, strainers, blind pipe etc. and fitting and fixing the same complete including bucket washing and other incidental works in the connection. The tube well should have a minimum 50 mm gap in between the outside of the tubewell pipe and the bore. For depth upto 150 metre for 80 mm dia. tube well wuth top enlargement of 150 mm dia. (i) 80 mm dia. boring etc.				
	(1) do him dia. Boning etc.	metre	290.00	48.00	13920.00
	(ii) 150 mm dia. boring etc. top enlargement	metre	692.00	42.00	29064.00
2	Supply of PVC pipes & fittings (medium duty) conforming to ASTMD-1785 and threaded to match with GI Pipes as per IS: 1239 (Part - I) i) 80mm.	metre	839.00	54.00	45306.00
	ii) 150mm.	metre	1943.00	42.00	81606.00
3	Supplying high density polythene strainer of approved make with adapter conforming to I.S. specifications. 80 mm dia.	metre	978.00	18.00	17604.00
4	Reducing Socket (mm x mm). 150 x 80	Each	480.00	1	480.00
5	Supplying, fitting and fixing steel cutter piece upto 450 mm long with sockets. 75 mm dia.	Each	480.00	1	480.00
6	Supplying, fitting and fixing plug of approved make conforming to I.S. specifications. 75 mm	Each	155.00	1	155.00
8	Supplying, fitting and fixing G.I. cap at top. 150 mm.	Each	598.00	1	598.00
9	Supplying, fitting and fixing 300 mm M.S. housing clamp of approved quality.	Set	2660.00	1	2660.00
10	Packing the annular space between the outside of the tube well pipes & strainers and the bore with pea size washed gravel of approved quality having size from 2 mm to 5 mm or the size approved by the Engineer-in-charge including cost of all materials labour and equipment complete.		2050.00	6.00	12300.00
11	Washing and developing tube well with air compressor pump and engine for 8 (eight) hours continuous pumping per day with necessary arrangements for testing the yield in gallons per hour with 'V' notch including hire and labour charges for all tools and plants and scaffolding as required.	Day	7613.00	2	15226.00
12	Collecting sample of water for bacteriological and chemical test from any depth at any time during execution of work including hire and labour charges for tools and plants and sterilising the equipments, paying all charges and fees, testing etc. complete in all respect as per direction.	L.S.	1243.00	1	1243.00
13	Drilling Borehole through hard rock using suitable rock roller bit at any plug within schedule depth including charges for withdrawing normal drill bit and making necessary rock drilling mechanism and also including cost of consumable tools and other incidental works etc all complete.	mtr.	28195.00		28195.00

14	Earth work in excavation of foundation trenches or drains, in all sorts of soil	Т			
14	(including mixed soil but excluding laterite or sandstone) including removing,				
	spreading or stacking the spoils within a lead of 75 m. as directed. The item	-			
	includes necessary trimming the sides of trenches, levelling, dressing and				-
	ramming the bottom, bailing out water as required complete.				
	Depth of excavation not exceeding 1,500 mm.	-			
	Depth of excavation not exceeding 1,500 mm.				
		Cum.	120.47	4.00	482.00
15	Filling in foundation or plinth by silver sand in layers not exceeding 150 mm.				
	as directed and consolidating same by thorough saturation with water				
	ramming complete, including the cost of supply of sand.	Cum.	509.28	1.00	509.00
16	Single brick flat soling of picked jhama bricks including ramming and dressing				
	bed to proper level and filling joints with powdered earth or local sand.			1	
		Sqm.	278.00	10.50	2919.00
17	Hire and labour charges for shuttering with centreing and necessary staging			10.50	2313.00
	upto 4 m. using approved stout props and thick hard wood planks of approved				
	thickness with required bracing for concrete slabs, beams, columns, lintels				
	curved or straight including fitting, fixing and striking out after completion of				
	works. (upto roof of ground floor)				
	25 mm. to 30 mm. thick wooden shuttering as per decision & direction of				
	Ehgineer-in-charge.				
10	Doinforcement for reinforced by	Sqm.	351.00	18.00	6318.00
18	Reinforcement for reinforced concrete work in all sorts of structures				
	including distribution bars, stirrups, binders etc initial straightening and				
	removal of loose rust (if necessary), cutting to requisite length, hooking				
	and bending to correct shape, placing in proper position and binding				
	with 16 gauge black annealed wire at every intersection, complete as				
	per drawing and direction For works in foundation, basement and upto				
	roof of ground floor/upto 4 m				
	Tor steel/Mild Steel				
	Other than SAIL/ TATA/RINL				
		M.T.	66.78	180.00	12020.00
19	Brick work with 1st class bricks in cement mortar (6:1)				
	a) In foundation and plinth	Cum.	4782.00	3.50	16737.00
20	b) In superstructure, ground floor	Sqm.	639.00	6.00	
21	Ordinary Cement Concrete (mix 1:1.5:3) with graded stone chips(20	5qm.	039.00	6.00	3834.00
	mm.nominal size) excluding shuttering and reinforcement, if any, in ground				
	floor as per relevant IS. Codes.				
	Pakur Variety		6500.00		
22	Supplying, fitting and fixing windows and ventilators with or	Cum.	6530.29	2.20	14367.00
22					
	without integrated grills conforming to IS 1038-1975 and				
	manufactured from rolled steel sections conforming to IS 7452-1974				
	with non-friction projecting type, box type hinges, glazing clips,				
	lugs locking bracket, handle plate etc, including hoisting in				
	position, straightening if required, fixing lugs in cement concrete (
	1:2:4) with stone chips 20 mm down cutting holes and mending				
	good damages to match with existing surface complete in all respect				
	excluding glazing.				
	Openable steel windows as per IS sizes with side hung shutters				
	and horizotal glazing hars.	Sqm.	1869.00	2.20	4112.00
23		34111.	1009.00	2.20	4112.00
	DUDDINING 1.DITITI LITICK IVI.S. STEET TITTED AND TIVED ON ONE OF both tacco of M.C. / M.J I				
	Supplying 1.5mm thick M.S. sheet fitted and fixed on one or both faces of M.S./ W.I.				
- 1	gate etc. with point welding at not more than 150mm apart complete in all respect as				
			4400		
	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials.	Sqm.	1102	2.20	2424.00
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including	Sqm.	1102	2.20	2424.00
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including	Sqm.	1102	2.20	2424.00
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/stagomg where necessary	Sqm.	1102	2.20	2424.00
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/stagomg where necessary (ground floor). [Excluding cost of chipping over concrete surface]	Sqm.	1102	2.20	2424.00
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/stagomg where necessary (ground floor). [Excluding cost of chipping over concrete surface] With 1:4 cement mortar	Sqm.	1102	2.20	2424.00
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/stagomg where necessary (ground floor). [Excluding cost of chipping over concrete surface]	Sqm.	1102	2.20	2424.00
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/stagomg where necessary (ground floor). [Excluding cost of chipping over concrete surface] With 1:4 cement mortar				
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/stagomg where necessary (ground floor). [Excluding cost of chipping over concrete surface] With 1:4 cement mortar 20 mm. thick plaster	Sqm.	1102	70.00	2424.00
24	gate etc. with point welding at not more than 150mm apart complete in all respect as per design including cost of all labour and materials. Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course scaffolding/stagomg where necessary (ground floor). [Excluding cost of chipping over concrete surface] With 1:4 cement mortar				



26	Artificial stone in floor, dado, staircase etc with cement				
	concrete (1:2:4) with stone chips, laid in panels as directed				
	with topping made with ordinary or white cement (as				
	necessary) and marble dust in proportion (1:2) including				
	smooth finishing and rounding off corners including raking				
	out joints or roughening of concrete surface and application				
	of cement slurry before flooring works using cement @ 1.75				
	kg/sq.m all complete including all materials and labour.				
	In ground floor.				
	35 mm, thick	Sqm.	336.00	6.00	2016.00
27	Colour washing with any shade with Stainers, as required including				
	cleaning and smoothening surface thoroughly:	_	22.20	FF 00	4006.00
	Two coats (on new works only).	Sqm.	22.29	55.00	1226.00
28	Supply of Lowering 5 H.P. 3ph Submersible Pump & Motor set of		07004.00	4.00	07004.00
	TEXMO make (Model No HMF60/12) in the existing well.	Per Set	37261.00	1.00	37261.00
29	S/F submersible cable suitable for 5 H.P. 3ph. Submersible Pump &				
	Motor.	mt.	109.72	50.00	5486.00
30	S/F Control panel suitable for 5 H.P. 3ph. Submersible Pump & Motor.				
	L & T make oniron angle frame on wall.	Each	6102.00	1	6102.00
31	Supply of PVC Socket				
	80 mm.	Each	190.00	6	1140.00
32	Supply of 80 mm. dia G.I. bend.				
	80 mm. dia	Each	1745.00	2	3490.00
33	Supply of G.I. "Tee"				
	80 mm. dia.	Each	500.00	3	1500.00
34	S/F M.S. Clamp with suitable nuts and bolts.	Pair	520.00	1	520.00
35	Earthening the whole installation by 50 mm. dia. 250 mm. long G.I.				
	pipes and as per P.W.D. Schedule.	Per Set	1660.80	1	1661.00
36	S/F 32A TPN Main switch (HAVELLS) with fuses on S & NL on angle				
	iron frame on wall.	Each	2402.00	1	2402.00
37	S/F 32 mm. dia protection pipe as per PWD schedule	mtr.	354.00	6.00	2124.00
38	S/F Steel strain wire with PVC coted for fixing of pump.	mtr.	110.00	70.00	7700.00
	· · · · · · · · · · · · · · · · · · ·	•			200025 00

Total ₹ 398835.00

Rupees Three Lakh NinetyEight Thousand Eight Hundred ThirtyFive Only

ror uly 12